Indefinite Integration ... Set 1

Evaluate the following indefinite integrals:
1. f (dz + 3) dx
2. f (42 — 8z + 1) dz
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Answers
Indefinite integrals:
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Evaluate the following indefinite integrals:
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Answers

Indefinite integrals:

3 . 2. —cotv+C
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Evaluate the following indefinite integrals:
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Solve the differential equation subject to the given conditions:

43, f'(z) =122 — 6z + 1 f(y=5

44, f'(z) =022 4+ 2 -8 f(-1)=1
d’ i

45. J_ 41/ y =21 when x =4
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Answers

Indefinite integrals:

41. cotz®

42, cosy/r2 +1

Differential equations:
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